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Niveau 2 
 
 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 

 

Problème 3 : Les compotes 
 

Un paquet de 4 compotes pèse 800 g. 
- Combien pèse une compote ? 
- Combien pèsent trois compotes ? 

 


